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QUESTION 1

Which DRS score indicates that the virtual machine (VM) is experiencing severe resource contention?
A. 50%

B. 95%

C. 70%

D. 15%

Correct Answer: D

QUESTION 2

Which problem is solved by migrating virtual machines (VMs) using vSphere vMotion?
A. A vSphere cluster that needs to be upgraded without any VM downtime.

B. A problem that occurred during VM patching and a roll-back is needed.

C. The names of the VM files that do not match the inventory name of the VM.

D. Heavy storage traffic and latency that are concentrated in a few datastores.

Correct Answer: C

QUESTION 3

Which vSphere feature provides continuous availability, allowing users to protect any virtual machine from a host failure
with no loss of data or connectivity?

A. vSphere vMotion

B. Enhanced vMotion Compatibility
C. vSphere Fault Tolerance

D. vSphere HA

Correct Answer: C

QUESTION 4
Which two vSphere features help address an organization\\'s business availability challenges? (Choose two.)

A. vSphere Fault Tolerance
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B. vSphere Pod Service

C. vSphere DPM

D. vSphere Trust Authority
E. vSphere High Availability

Correct Answer: AE

QUESTION 5

A vSphere operator can only configure up to two virtual CPUs when deploying a new virtual machine (VM). Refer to the
exhibit:
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What is the cause erf this situation?

A. VMs support a maximum of 2 CPUs.

B. The selected cluster is not in DRS mode.

C. The selected ESXI host has only 2 CPUs.

D. The compatibility selected is "ESXi 6.5 and later".

Correct Answer: C
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